Name:

Task Card 1 Answer: 17

U6 Scavenger Hunt:
Indirect measurement

o Start at task number 1
© Look for the answer on another task card
© That task card has your next task (question)

© Keep going until you have completed all task

cards.

Task Card 2 Answer: 15

New Task:

What is the height of the flag pole?
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r
[
() ™
i
¥ 3

Task Card 3 Answer: 16.7

The polygons are similar. Solve for x.

5

15

Task Card 4 Answer: 20

The polygons are similar. Solve for x.

1

1.5 ft.

6 ft.

9 fi.

& What is the
height of the tree
if the girl is 5 ft
tall?

Task Card 5 Answer: 6

25

40



Answer: 12
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Task Card 8 Answer: 31.25 Answer: 8
What is the length of the lake? How much taller is the tree than the person?
B/
280m
X
A D E 7 ft 35 ft
Task Card 10 Answer: 1 Task Card 11 Answer: 42.5
The polygons are similar. Solve for x. The polygons are similar. Solve for x.
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